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10 15 20 25

[} I’J
<@ o
S =
£ 3
2 E
4 [%)
Q j=
E o
= 3
@
o o T u. i e !.' T
B B i ff it (i Hiflt{ -
: $ (1 ATEDIE
1 I
95-20-15-10 -5 0 5 10 15 20 25 095 E=55=15-10 -5 5
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_CKF_TThase
—— DQM_CKF_TT_retrainOldFiles113
| N of sim| =—— DQM_CKF_TT_retrainOldFiles125_v2
1] 1J
Q@ o
S =
£ :
o
g 2102
x 1%}
[5] c
E Q
= 3
@
10
g i i I! g T
* . i
x AMCHAAAED H el Atk l il 111 o MMt
HHHHHHHH‘H\HHH’HI\H”"HH W‘"‘H AL \H [l
MR ff H m” o AL AR 6 0.95 i
=1 0.4 0.6 0.8 ~-1-0.8-0.6-0.4-02 0 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
o f : a
s : [
510 TrrrtTTTITsyTeieereceeerecees 3
2 H E
] : 2
& 103 [EEEEE CEREERT P ERE teeees &
= : 3
4

30

2 s X X je! ' :
& : : il & : :
| SPUY J 1 b1 14:----- : ;
: : ] : :
03510 0 — 10 20 0% =20 10 0 10 20
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[%2] w0
3 &
s F
3
2 !
< %]
Q c
@ S
= 3
@

Ratio

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


